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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2016

Subject Name: Mechanical Measurement
Subject Code: 2TE04MMT1 Branch: Diploma(Mechanical)
Semester: 4 Date: 07/05/2016 ~ Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:
a) The degree of closeness of the measured value with its true value is knownas___.
(a) Precision (b) Accuracy  (c) Standard (d) Sensitivity
b) Error of measurement = :
(a) Measured value — Precision (b) Precision — True value
(c) True value — Measured value (d) None of the above
c) Feeler gauge is used to measure
(a) Clearance between two mating parts (b) thickness
(c) height (d)AII of the above
d) V -Block is used in workshop to check .
(a) Roundness of cylindrical work (b) Surface roughness
(c) Taper on a job (d) None of these

e) 5’isaleast count of
(@) Vernier caliper (b) Bevel protector (c) Micrometer (d) Depth gauge
f)  Least count of venire caliper is

(@ 0.01 (b) 0.02 (c) 0.001 (d)0.005
g) 1 Degree= minutes & 1 minutes = second
(@) 10, 60 (b) 12, 60 (c) 60, 60 (d) 100, 60
h)  Which method is Straightness testing method?
(a)Wedge Method (b)Straight-edge Method
(c)Autocollimators Method (d) All of These
i)  Constant Chord Method is use to measure
(a) Thickness of tooth (b) Pitch Diameter
(c) Width of tooth (d) Number of tooth
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Which is the symbol of concentricity ?

(@) @ (b) @ (©) @ (d) @

Which part of CMM is touch directly to the Job?
(a)Probe (b) CMM Column  (c) Arm (d)AII of these

Distance between two adjacent points parallel to axis in screw is call

(@) height (b) Thickness (c) Width (d) Pitch
Thermocouple is used to measure

(a) Height (b) Weight (c) Temperature  (d) Density
50cm? = mm?

(a) 50 (b)500 (c) 5000 (d)

50000

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-7

Attempt all questions

Explain the working principle of venire caliper with neat sketch.

Write L.C of outside micrometer. Explain errors in outside micrometer with neat
sketch

Attempt all questions
Explain Parkinson’s gear tester with neat sketch.
Write a note on LVDT (Linear Variable Differential Transformer).

Attempt all questions
What are limit gauges? State their advantages and disadvantages.
Draw a neat sketch of “Dial indicator” . Explain its working Principle.

Attempt all questions
Explain three wire methods for measurement of effective diameter of thread.
Explain Talysurf surface roughness tester to measure surface roughness.

Attempt all questions
Give the name of Straightness measurement method and Explain any one method.

Explain working principle of Sine-bar with neat sketch. State its applications.
Attempt all questions
Explain Radiography test of Non-Destructive testing with neat sketch.

Explain the method to check roundness of a shaft with the help of “V” block and
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e)

dial indicator with neat sketch.

Attempt all questions
Write a note on Bevel Protector
(1) Show 18.50 mm reading on an outside micrometer.

(2) Write the equation of Least Count for Vernier Calipers & Outside Micrometer
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